Quiz VII Ta}(e Home General Chemistry I Lecture Fall 12 Dr. Hahn 20pts 11/27 T 8:30 am
",/ﬂ ) ]
Name { e CJ‘L’)/ ' Name

(print name) & (sign name)

Please show all work for full credit. (4 pts extra credit because I may not complete all content before the end
of the 11/27 class) You will have an opportunity to ask questions about this take home quiz in the first 15
minutes of class.

turn in deadline in classroom: Please return the complete take home quiz by 11/29 R by 8:45 am.
You will receive the answer key as you turn in the take home quiz in class. After this deadhne the quiz will
be worth zero points because I will hand out the key and will discuss the answers.

turn in deadline into turn in bex: You may also turn in this quiz anytime before 8:20 am" into my turn
in box or under the door of my office LSF 303 H for full credit. You cannot turn in the take home quiz
into my turn in box or under the door of my office after 8:20 am (for the 8:30 am class). I will check my
tun in box and under the door of my office LSF 303H at 8:20 am. If the take home quiz has not been
turned into my box by this deadline, then you would be turning in the take home quiz after the answer key
has already been handed out in class (because [ would already have entered the classroom and I will not be
sitting in my office or hanging out in front of my turn in box & I will not be back at my office until after 1
have handed out the answer key) so the take home quiz will be worth zero points after this final deadline.

1. Complete the following Lewis Dot Structure with an expanded octet around the central atom. (It is
possible to have a valid Lewis Dot Structure w1thout having an expanded octet but please show the Lewis
Dot Structure with an expanded octet. As Q5> Give the formal charge cn all atoms in the structure in
your final Lewis Dot Structure with the expanded octet. I have provided the frame of the molecule. (4 pts
total, 2 pts final Lewis Dot Structure)

‘ -~ Orgen O O~ iy 6
# of valence electrons ‘)22""—(2 pts) f > ? ? ﬂ;f J “
_ leyi= T %t 4( 4540 ¢

: 1ol
b | ?g Kxe=p0e

1 O=—As—-0i .
W&o (2(fly (Bl
N G

| -G f’ -

em AN SR AV Q C. -
Y ¢ oo IR B B
T L N

2. For the following molecule given the Lewis Dot structure, complete the following using the

VSEPRT handout. (5 pts, 1 pt per blank) SFs
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The # of electron pairs around the atom with the * is rfc‘

The # of lone pair electrons around atom with the * is @

The geometry of the electron pairs is L{L ﬁlf\ L Ll VL ,f

The geometry of the moleculeis /7 ¢ ﬂ{; e /f‘z ¢ (,( "“{;;,f[
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The hybridization of the atom with the * is Sp” é:%
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3. For the following molecule given the Lewis Dot structure, complete the following u31n5th&VSEPRTww
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The number of electron pairs around the atom with the * is g : \f }V C { € (:%,({{ £ "~ :} ;;9{ (( [
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The number of lone pair electrons around atom with the * is
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The geometry of the electron pairs around the atom with the * is ?Z\ e el /\ @5/6 ol (4:/(

The geometry of the molecule around the atom with the * is —fé ym; é&, i )\0;,@ ;0 (f/”} P AR g{@
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The hybridization of the atom with the *is > 2

The bond P----C} isa @ér (nonpolar)] {circle one) bond
The molecule as a whole is a (pciia?}or (nonpolar)] (circle one) Tt molecule

C.f PsoC ‘}{35‘({ é‘:@ {‘? 7, ,sfge:kw
!?‘}?{,}NJ ("/‘L \ef? /Lb'

3. Show the conversion of the Carbon valence atomic orbital from the unhybndlzed carbon to the sp2
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4.  Given the diagram showing the orbitals, label the orbitals with the appropriate letter shown below by
filling in the blank with the appropriate letter. You may not use all of the letter given and you may use
the letters more than one time. (1 pt each blank, 4 pts total) ‘KC — ,/

~
(a) carbon p orbital (b) carbon sp hybridized orbital (c) carborhg hybridized orbital (d) carbon sp®
_ hybridized orbital (e} Hydrogen s orbital

5.(a) For the molecule H-H fill in the shown Molecu]m*@’m{al (MO) with arrows for electrons. (1 pt)
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(b) Is the molecule H; a stable molecule based on your filled in MO? _ Give a short sentence of explanation.
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Quiz VII Take Home General Chemistry I Lecture Fall 12 Dr. Hahn 20 pts 11727 T 9:55 am

Name k Q/Ly Name

(print name) Vi (sign name)

Please show all work for full credit. (4 pts extra credit because I may not complete all contents before the
end of 11/27 class) You will have an opportunity to ask questions about this take home quiz in the first 15
minutes of class.

turn in deadline in classroom: Please return the complete take home quiz by 11/29 R by 10:10 am.
You will receive the answer key as you turn in the take home quiz in class. After this deadline the quiz will
be worth zero points because I will hand out the key and will discuss the answers.

turn in deadline into turn in_box: You may also turn in this quiz anytime before 9:45 am into my turn
in box or under the door of my office LSF 303 H for full credit. You cannot turn in the take home quiz
into my turn in box or under the door of my office after 9:45 am (for the 9:55 am class). I will check my
turn in box and under the door of my office LSF 303H at 9:45 am. If the take home quiz has not been
turned into my box by this deadline, then you would be turning in the take home quiz after the answer key
has already been handed out in class (because I would already have entered the classroom and I will not be
sitting in my office or hanging out in front of my turn in box & I will not be back at my office until after I
have handed out the answer key) so the take home quiz will be worth zero points afier this final deadline.

L. Complete the following Lewis Dot Structure with an expanded octet around the central atom. ([t is
possible to have a valid Lewis Dot Structure wﬁhout having an expanded octet but please show the Lewis
Dot Structure with an expanded octet. S¢04° Give the formal charge on all atoms in the structure in your
final Lewis Dot Structure with the expanded octet. I have provided the frame of the molecule. (4 pts total, 2

pts final Lewis Dot Structure) Ga’ (g ; A
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2. For the following molecule given the Lewis Dot structure, c&nplete
VSEPRT handout. (5 pts, 1 pt per blank) PCl;s
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The number of electron pairs around the atom with the * is 5

The number of lone pair electrons around atom with the *is O

The geometry of the electron pairs is Zé ¥ @ I / }’) i /}7&4/ i A1 ﬂ ﬂ(ﬁ
The geometry of the molecule is év‘uﬁ‘,Mﬂ kl}?&-\,i’\M!/ﬁM

The hybridization of the atom with the * is S‘yQ ;(ﬂ

3. For the following molecule given the Lewis Dot structure, complete the following using the VSEPRT
handout. (7 pts, 1 pt per blank or choice) AsF;
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The number of electron pairs around the atom with the * is E

The number of lone pair ¢fectrons around atom with the * is /1» -

The geome@ of the electron pairs around the atom with the * is é 6“{"/&%\ 265 kﬂ/

The geometry of the molecule around the atom with the * is lé\/ [{ Gé’ M Vf@%’y M/”l /'% &K
3

The hybridization of the atom with the *is S0

The bond As—-F is a or (nonpolar)] (cirele one) bond l;}i Si gmﬁit CZ:;% ;,

The molecule as a whole is a [(polar) or (nonpolar)] (circie olecule. [ ess
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3. Show the‘\(:/on\f;rsion of the Carbon valence atomic orbital from the unhybridized carbon to the ”"55

hybridized carbon in C; Hy. Use arrows to represent electrons ( 2 pts, 1 pt electron, 1 pt orbitals)
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4. Given the diagram showing the orbitals, label the orbitals with the appropriate letter shown below by
filling in the blank with the appropriate letter. You may not use all of the letter given and you may use
the letters more than one time. (1 pt each blank, 4 pts total) i Yo NG

H—C=c-ft Uise

(a) carbon p orbital (b) carbon ‘sp hybridized orbital = (c) carbon sp hybndlzed orbital (d) carbon sp®
hybridized orbital (e) Hydrogen s orbital

4.a. For the molecule He-He, fill in the shown Molecular Orbital (MO) with arrows for electrons. (1 pt)
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b. Is the molecule Hez a stable molecule based on your filled in MO?  Give a short sentence of explanation.
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Quiz VII Take Home General Chemistry I Lecture Fall 12° Dr. Hahn 20pts 11/27 T 8:30 am

Name Name
(print name) (sign name)

Please show all work for full credit. (4 pts extra credit because I may not complete all content before the end
of the 11/27 class) You will have an opportunity to ask questions about this take home quiz in the first 15
minutes of class.

turn in deadline in classroom: Please return the complete take home quiz by 11/29 R by 8:45 am.
You will receive the answer key as you turn in the take home quiz in class. After this deadline the quiz will
be worth zero points because I will hand out the key and will discuss the answers.

turn in deadline into turn in_box: You may also turn in this quiz anytime before 8:20 am into my turn
in box or under the door of my office LSF 303 H for full credit. You cannot turn in the take home quiz
into my turn in box or under the door of my office after 8:20 am (for the 8:30 am class). I will check my
turn in box and under the door of my office LSF 303H at 8:20 am. If the take home quiz has not been
turned into my box by this deadline, then you would be turning in the take home quiz after the answer key
has already been handed out in class (because I would already have entered the classroom and I will not be
sitting in my office or hanging out in front of my turn in box & I will not be back at my office until after 1
have handed out the answer key) so the take home quiz will be worth zero points after this final deadline.

1. Complete the following Lewis Dot Structure with an expanded octet around the central atom. (It is
possible to have a valid Lewis Dot Structure without having an expanded octet but please show the Lewis
Dot Structure with an expanded octet. As Qs> Give the formal charge on all atoms in the structure in
your final Lewis Dot Structure with the expanded octet. I have provided the frame of the molecule. (4 pts
total, 2 pts final Lewis Dot Structure)

# of valence electrons (2 pts)
0
) As O
O
2. For the folloWing molecule given the Lewis Dot structure, complete the following using the

VSEPRT handout. (5 pts, I pt per blank) SFs




The # of electron pairs around the atom with the * is
The # of lone pair electrons around atom with the * is

The geometry of the electron pairs is

The geometry of the molecule is

The hybridization of the atom with the * is

3. For the following molecule given the Lewis Dot structure, complete the following using the VSEPRT
handout. (7 pts, 1 pt per blank or choice) PCls
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The number of electron pairs around the atom with the * is

The number of lone pair electrons around atom with the * is

The geometry of the ¢lectron pairs around the atom with the * is

The geometty of the molecule around the atom with the * is

The hybridization of the atom with the * is

The bond P----C1 is a [(polar) or (nonpolar)] (circle one) bond

The molecule as a whole is a [(polar) or (nonpolar)] (circle one) molecule.

3. Show the conversion of the Carbon valence atomic orbital from the unhybridized carbon to the sp*
hybridized carbon in C;Hs  Use arrows to represent electrons (2 pts, 1 pt electron, 1 pt orbitals)
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4, Given the diagram showing the orbitals, label the orbitals with the appropriate letter shown below by
filling in the blank with the appropriate letter. You may not use all of the letter given and you may use
the letters more than one time. (1 pt each blank, 4 pts total) HKC = M

: {
‘(a) carbon p orbital (b) carbon sp hybridized orbital (c) carbori’ sp? hybridized orbitat (d) carbon sp’
hybridized orbital (e) Hydrogen s orbital

(b) Is the molecule H, a stable molecute based on your filled in MO?  Give a short sentence of explanation.
(1pt)



Quiz VII Take Home General Chemistry I Lecture Fall 12 Dr. Hahn 20pts 11/27 T 9:55 am

Name Name
{print name)- (sign name)

Please show all work for full credit. (4 pts extra credit because 1 may not complete all contents before the
end of 11/27 class) You will have an opportunity to ask questions about this take home quiz in the first 15
minutes of class.

turn in deadline in classroom: Please return the complete take home quiz by 11/29 R by 10:10 am.
You will receive the answer key as you turn in the take home quiz in class. After this deadline the quiz will
be worth zero points because I will hand out the key and will discuss the answers.

turn in deadline into turn in bex: You may also turn in this quiz anytime before 9:45 am into my turn
in box or under the door of my office LSF 303 H for full credit. You cannot turn in the take home quiz
into my turn in box or under the door of my office after 9:45 am (for the 9:55 am class). I will check my
turn in box and under the door of my office LSF 303H at 9:45 am. If the take home quiz has not been
turned into my box by this deadline, then you would be turning in the take home quiz after the answer key
has already been handed out in class (because I would already have entered the classroom and I will not be
sitting in my office or hanging out in front of my turn in box & I will not be back at my office until after I
have handed out the answer key) so the take home quiz will be worth zero points after this final deadline.

1. Complete the following Lewis Dot Structure with an expanded octet around the central atom. (It is
possible to have a valid Lewis Dot Structure w1thout having an expanded octet but please show the Lewis
Dot Structure with an expanded octet. SeOs”  Give the formal charge on all atoms in the structure in your
final Lewis Dot Structure with the expanded octet. I have provided the frame of the molecule. (4 pts total 2
pts final Lewis Dot Structure)

# of valence electrons @2pts)
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2. For the following molecule given the Lewis Dot structure, complete the following using the
VSEPRT handout. (5 pts, 1 pt per blank) PCls
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The number of electron pairs around the atom with the * is

The number of lone pair electrons around atom with the * is

The geometry of the electron pairs is

The geometry of the molecule is

The hybridization of the atom with the * is

3. For the following molecule given the Lewis Dot structure, complete the following using the VSEPRT
handout. (7 pts, 1 pt per blank or choice) As F3 '
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The number of electron pairs around the atom with the * is
The number of lone pair electrons around atom with the * is

The geometry of the electron pairs around the atom with the * is

The geometry of the molecule around the atom with the * is

The hybridization of the atom with the * is

The bond As-—--F is a {(polar) or (nonpolar)] (circle one) bond

The molecule as a whole is a [(polar) or (nonpolar)] (circle one} molecule.

3. Show the conversion of the Carbon valence atomic orbital from the unhybridized carbon to the sp
hybridized carbon in C; H,. Use arrows to represent electrons (2 pts, 1 pt electron, 1 pt orbitals)

H—C=c—-+

sp hybridized carbon
(vou need to show
both the orbitals

and the electrons

in the orbitals)
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4.  Given the diagram showing the orbitals, label the orbitals with the appropriate letter shown below by
filling in the blank with the appropriate letter. You may not use all of the letter given and you may use

H—C=c-f
(a) carbon p orbital (b) carbon sp hybridized orbital (c) carbon sp2 hybridized orbital ({d) carbon sp3
hybridized orbital (e) Hydrogen s orbital

the letters more than one time. (1 pt each blank, 4 pts total)

He Ve AN He

b. Is the molecule He; a stable molecule based on your filled in MO?  Give a short sentence of explanation.
(1pH)



